
MATHS

BOOKS - A N EXCEL PUBLICATION

INTEGRALS

Question Bank

1. Find the following integrals 

Watch Video Solution

∫ dx
1

xn

2. Find the following integrals 

Watch Video Solution

∫ dx
x3 − 1

x2

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_Ub9YQZRwdoRB
https://dl.doubtnut.com/l/_D0WzZU5n5AWm


3. Find the following integrals 

Watch Video Solution

∫x + 1dx
2
3

4. Find the following integrals 

Watch Video Solution

∫(sinx + cos x)dx

5. Find the following integrals 

Watch Video Solution

∫cos ecx(cos ecx + cot x)dx

6. Find the following integrals 

Watch Video Solution

∫ dx
1 − sinx

cos2 x

https://dl.doubtnut.com/l/_Uoz9mabvoX02
https://dl.doubtnut.com/l/_Yao5Lzw5x3Ij
https://dl.doubtnut.com/l/_1qsVFyo9wcGo
https://dl.doubtnut.com/l/_IUUEYn4z3iuA
https://dl.doubtnut.com/l/_JJv1kygJV2ks


7. Evaluate 

Watch Video Solution

∫ dx
1

1 + sinx

8. Find the antiderivative (or integral) of the following functions by

the method 

of inspection. sin2x

Watch Video Solution

9. Find the antiderivative (or integral) of the following functions by

the method 

of inspection. cos3x

Watch Video Solution

https://dl.doubtnut.com/l/_JJv1kygJV2ks
https://dl.doubtnut.com/l/_omuoRZkGbA6y
https://dl.doubtnut.com/l/_60dVWF3D6yMZ


10. Find the antiderivative (or integral) of the following functions by

the method 

of inspection. 

Watch Video Solution

e2x

11. Find the antiderivative (or integral) of the following functions by

the method 

of inspection. 

Watch Video Solution

(ax + b)2

12. Find the antiderivative (or integral) of the following functions by

the method of inspection. 

Watch Video Solution

sin 2x − 4e3x

https://dl.doubtnut.com/l/_eNjELlfDKizP
https://dl.doubtnut.com/l/_4KcRosYyiRzy
https://dl.doubtnut.com/l/_MjbY2PPMYJ8d
https://dl.doubtnut.com/l/_PvfUtbnTIq6g


13. Evaluate the following integrals 

View Text Solution

∫(4e3x + 1)dx

14. Evaluate the following integrals 

Watch Video Solution

∫x2(1 − )dx
1

x2

15. Evaluate the following integrals 

Watch Video Solution

∫(ax2 + bx + c)dx

16. Evaluate the following integrals 

Watch Video Solution

∫(2x2 + ex)dx

https://dl.doubtnut.com/l/_PvfUtbnTIq6g
https://dl.doubtnut.com/l/_wY0PhWigk6jv
https://dl.doubtnut.com/l/_PUVOXBbZDfbP
https://dl.doubtnut.com/l/_TLBvtULiP5fj


17. Evaluate the following integrals 

Watch Video Solution

∫(√x − )

2

dx
1

√x

18. Evaluate the following integrals: 

Watch Video Solution

∫ dx
x3 + 5x2 − 4

x2

19. Evaluate the following integrals: 

Watch Video Solution

∫ dx
x3 + 3x + 4

√x

20. Evaluate the following integrals 

Watch Video Solution

∫ dx
x3 − x2 + x − 1

x − 1

https://dl.doubtnut.com/l/_bZDS9xZ6Gs3E
https://dl.doubtnut.com/l/_Js1mJ6IQfs06
https://dl.doubtnut.com/l/_9ywYmDqsKf5z
https://dl.doubtnut.com/l/_d5zbGIM3Ot5R
https://dl.doubtnut.com/l/_0W0ypfbav7s0


21. Evaluate the following integrals 

Watch Video Solution

∫(1 − x)√xdx

22. Evaluate the following integrals 

Watch Video Solution

∫√x(3x2 + 2x + 3)dx

23. Evaluate the following integrals 

Watch Video Solution

∫(2x − 3 cos x + ex)dx

24. Evaluate the following integrals 

Watch Video Solution

∫(2x2 − 3 sinx + 5√x)dx

https://dl.doubtnut.com/l/_0W0ypfbav7s0
https://dl.doubtnut.com/l/_EXF1GH6pGvbe
https://dl.doubtnut.com/l/_wRHTXv3ionCW
https://dl.doubtnut.com/l/_kO4CM0H0wxMV


25. Evaluate the following integrals 

View Text Solution

∫secx(secx + tanx)dx

26. Evaluate the following integrals 

Watch Video Solution

∫ dx
sec2 x

cos ec2x

27. Evaluate the following integrals 

Watch Video Solution

∫ dx
2 − 3 sinx

cos2 x

28. Choose the correct answer from the bracket. The antiderivative

of `(sqrtx + 1/sqrtx) equals

A. x + 2x + c
1

3

1
3

1
2

https://dl.doubtnut.com/l/_Sc0GgT4ILiAe
https://dl.doubtnut.com/l/_iGDUO44eGdyw
https://dl.doubtnut.com/l/_v65Szr225yTg
https://dl.doubtnut.com/l/_YR1EMipDnKcO


B. 

C. 

D. 

Answer: C

View Text Solution

x + x2 + c
2

3

2
3

1

2

x + 2x + c
2

3

3
2

1
2

x + x + c
3

2

3
2

1

2

1
2

29. Choose the correct answer from the bracket.

 such that f(2) = 0, then f(x) is

A. 

B. 

C. 

D. 

Answer: A

if (f(x)) = 4x3 −
d

dx

3

x4

x4 + −
1

x3

129

8

x3 + +
1

x4

129

8

x4 + +
1

x3

129

8

x3 + −
1

x4

129

8

https://dl.doubtnut.com/l/_YR1EMipDnKcO
https://dl.doubtnut.com/l/_yjIzR4O8wNYV


Watch Video Solution

30. Evaluate 

Watch Video Solution

∫cot xdx

31. Evaluate 

Watch Video Solution

∫secxdx

32. Evaluate 

Watch Video Solution

∫cos ecxdx

33. Integrate the following 

W t h Vid S l ti

∫ dx
sin √x

√x

https://dl.doubtnut.com/l/_yjIzR4O8wNYV
https://dl.doubtnut.com/l/_kFDC3geWyDTJ
https://dl.doubtnut.com/l/_C70IRvdLaETD
https://dl.doubtnut.com/l/_REhHaDd7lXbs
https://dl.doubtnut.com/l/_r5ssRYgPZYg4


Watch Video Solution

34. Integrate the following 

Watch Video Solution

∫ dx
sinx

sin(x + a)

35. Integrate the following 

Watch Video Solution

∫ dx
1

1 + tanx

36. Integrate the following functions 

View Text Solution

2x

1 + x2

37. Integrate the following functions 

Watch Video Solution

(logx)2

x

https://dl.doubtnut.com/l/_r5ssRYgPZYg4
https://dl.doubtnut.com/l/_3mtzlnOqZBxs
https://dl.doubtnut.com/l/_pUeZvug6iNoA
https://dl.doubtnut.com/l/_6s3hL3Ysyg26
https://dl.doubtnut.com/l/_kitfRAOeYLKv


38. Integrate the following functions 

Watch Video Solution

1

x + x logx

39. Integrate the following functions sinx sin(cosx).

Watch Video Solution

40. Integrate the following functions sin(ax+b) cos(ax+b).

Watch Video Solution

41. Integrate the following functions 

Watch Video Solution

√ax + b

https://dl.doubtnut.com/l/_kitfRAOeYLKv
https://dl.doubtnut.com/l/_Ku1QE2TifMTL
https://dl.doubtnut.com/l/_8dWuAav8lTVt
https://dl.doubtnut.com/l/_9uvSQKsFlSdF
https://dl.doubtnut.com/l/_WVNMqG5gAMdH


42. Integrate the following functions 

Watch Video Solution

x√x + 2

43. Integrate the following functions 

Watch Video Solution

x√1 + 2x2

44. Integrate the following functions 

Watch Video Solution

(4x + 2)√x2 + x + 1

45. Integrate the following functions 

Watch Video Solution

1

x − √x

https://dl.doubtnut.com/l/_RbyW52y9hXmw
https://dl.doubtnut.com/l/_HQXAhNZOisnC
https://dl.doubtnut.com/l/_rzacsjt3EWhM
https://dl.doubtnut.com/l/_KPZwOaQIP9aD
https://dl.doubtnut.com/l/_HeXQXBmkxiW0


46. Integrate the following functions 

Watch Video Solution

, x > 0
x

√x + 4

47. Integrate the following functions 

Watch Video Solution

(x3 − 1) x5
1
3

48. Integrate the following functions 

Watch Video Solution

x2

(2 + 3x3)3

49. Integrate the following functions 

Watch Video Solution

1

x(logx)
m

, x > 0

https://dl.doubtnut.com/l/_HeXQXBmkxiW0
https://dl.doubtnut.com/l/_KOXqn0R2grLW
https://dl.doubtnut.com/l/_xUoSz2lh5FgX
https://dl.doubtnut.com/l/_ygjNizZhx0Jj


50. Integrate the following functions 

Watch Video Solution

x

9 − 4x2

51. Integrate the following functions 

Watch Video Solution

e2x+ 3

52. Integrate the following functions 

Watch Video Solution

x

ex
2

53. Integrate the following functions 

Watch Video Solution

etan − 1 x

1 + x2

https://dl.doubtnut.com/l/_TDhmixFipdMr
https://dl.doubtnut.com/l/_2SOPdUQmM6Z1
https://dl.doubtnut.com/l/_thoU0hgP138J
https://dl.doubtnut.com/l/_37quoDZuvchr
https://dl.doubtnut.com/l/_JDnTVZ7NEIct


54. Integrate the following functions 

Watch Video Solution

e2x − 1

e2x + 1

55. Integrate the following functions 

Watch Video Solution

e2x − e− 2x

e2x + e− 2x

56. Integrate the following functions 

Watch Video Solution

tan2(2x − 3)

57. Integrate the following functions 

Watch Video Solution

sec2(7 − 4x)

https://dl.doubtnut.com/l/_JDnTVZ7NEIct
https://dl.doubtnut.com/l/_jBJ6T2QW2Ofm
https://dl.doubtnut.com/l/_0M0dZqiyKqps
https://dl.doubtnut.com/l/_z8Z7yZkaaiGU


58. Integrate the following functions: 

Watch Video Solution

sin− 1 x

√1 − x2

59. Integrate the following functions 

Watch Video Solution

2 cos x − 3 sinx

6 cos x + 4 sinx

60. Integrate the following functions 

Watch Video Solution

1

cos2 x(1 − tanx)2

61. Integrate the following functions 

Watch Video Solution

cos √x

√x

https://dl.doubtnut.com/l/_RjEiZp3SBtQS
https://dl.doubtnut.com/l/_z8UbZeU0vffC
https://dl.doubtnut.com/l/_0XkwuisIdtJQ
https://dl.doubtnut.com/l/_r4EegOmt56Lv
https://dl.doubtnut.com/l/_TGdG85VhPH67


62. Integrate the following functions 

Watch Video Solution

√sin 2x cos 2x

63. Integrate the following functions 

Watch Video Solution

cos x

√1 + sinx

64. Integrate the following functions 

Watch Video Solution

cot x log(sinx)

65. Integrate the following functions .

Watch Video Solution

sinx

1 + cos x

https://dl.doubtnut.com/l/_TGdG85VhPH67
https://dl.doubtnut.com/l/_WGCkpXNK9vyv
https://dl.doubtnut.com/l/_WTfSnsTOFopM
https://dl.doubtnut.com/l/_CNqzKPdBwngQ


66. Integrate the following functions 

Watch Video Solution

sinx

(1 + cos x)2

67. Integrate the following functions 1/(1+cotx)

Watch Video Solution

68. Integrate the following functions 1/(1-tanx)

Watch Video Solution

69. Integrate the following functions 

Watch Video Solution

√tanx

sinx cos x

https://dl.doubtnut.com/l/_wCQuQDm2aShZ
https://dl.doubtnut.com/l/_0UNuETy0Vd8I
https://dl.doubtnut.com/l/_dxYQlFlyMSfB
https://dl.doubtnut.com/l/_GwyQkoEgvVSG
https://dl.doubtnut.com/l/_iWLhZRAC1wSA


70. Integrate the following functions 

Watch Video Solution

(1 + logx)
2

x

71. Integrate the following functions 

Watch Video Solution

(x + 1)(x + logx)2

x

72. Integrate the following functions 

Watch Video Solution

x3 sin(tan− 1 x4)

1 + x8

73. Choose the correct answer 

A. 

B. 

∫( )dx
10x9 + 10x log 10

x10 + 10x

10x − x10 + c

10x + x10 + c

https://dl.doubtnut.com/l/_iWLhZRAC1wSA
https://dl.doubtnut.com/l/_4WfRxXvL2hR6
https://dl.doubtnut.com/l/_hBGc2Y6SblZg
https://dl.doubtnut.com/l/_OmgDr6naeEXu


C. 

D. 

Answer: D

Watch Video Solution

(10x − x10)
− 1

+ c

log(10x + x10) + c

74. Choose the correct answer  =.... a) tanx+cotx+c b)

tanx-cotx+c c) tanx cotx+c d) tanx-cot2x+c

A. tanx+cotx+c

B. tanx-cotx+c

C. tanx cotx+c

D. tanx-cot2x+c

Answer: B

Watch Video Solution

∫
dx

sin2 x cos2 x

https://dl.doubtnut.com/l/_OmgDr6naeEXu
https://dl.doubtnut.com/l/_a9r7dqwa35fE


75. Find 

Watch Video Solution

∫cos2 xdx

76. Find 

Watch Video Solution

∫sin2 xdx

77. Find 

Watch Video Solution

∫tan2 xdx

78. Find 

Watch Video Solution

∫cot2 xdx

https://dl.doubtnut.com/l/_a9r7dqwa35fE
https://dl.doubtnut.com/l/_yvGofZptIO7N
https://dl.doubtnut.com/l/_UmCTEhOF3Poy
https://dl.doubtnut.com/l/_QekNkcQ8mvxE
https://dl.doubtnut.com/l/_ZmVsBVaTLauB


79. Find 

Watch Video Solution

∫cos3 xdx

80. Find 

Watch Video Solution

∫sin3 xdx

81. Find 

Watch Video Solution

∫tan3 xdx

82. Integrate the following functions: 

Watch Video Solution

sin2(2x + 5)

https://dl.doubtnut.com/l/_1vCOBlhepEWB
https://dl.doubtnut.com/l/_VBWo8Vk2F8My
https://dl.doubtnut.com/l/_2prdCirEEUZf
https://dl.doubtnut.com/l/_bHtAFfMCQla6
https://dl.doubtnut.com/l/_mHrUH7Xn7RIS


83. Integrate the following functions: sin 3x cos4x

Watch Video Solution

84. Integrate the following functions: cos2x cos4x cos6x

Watch Video Solution

85. Integrate the following functions: 

Watch Video Solution

sin3(2x + 1)

86. Integrate the following functions: 

Watch Video Solution

sin3 x cos3 x

https://dl.doubtnut.com/l/_mHrUH7Xn7RIS
https://dl.doubtnut.com/l/_W3BFlhHnPDqw
https://dl.doubtnut.com/l/_UqWpbGNBjKul
https://dl.doubtnut.com/l/_22iIgIx5j3WG


87. Integrate the following functions: sinx sin2x sin3x

Watch Video Solution

88. Integrate the following functions: sin 4x sin8x

Watch Video Solution

89. Integrate the following functions: (1-cosx)/(1+cosx)

Watch Video Solution

90. Integrate the following functions: cosx/(1+cosx)

Watch Video Solution

https://dl.doubtnut.com/l/_Rsk4vUKAW5yU
https://dl.doubtnut.com/l/_XUF8oQBMgtPJ
https://dl.doubtnut.com/l/_di0LQNtc4a2i
https://dl.doubtnut.com/l/_rv90aWcUqGey
https://dl.doubtnut.com/l/_je3k9rPxXMNl


91. Integrate the following functions: 

Watch Video Solution

sin4 x

92. Integrate the following functions: 

Watch Video Solution

cos4(2x)

93. Integrate the following functions: 

Watch Video Solution

sin2 x

1 + cos x

94. Integrate the following functions: 

Watch Video Solution

cos 2x − cos 2α

cos x − cosα

https://dl.doubtnut.com/l/_je3k9rPxXMNl
https://dl.doubtnut.com/l/_98IjTqrC28Sn
https://dl.doubtnut.com/l/_eUAXQecLiPkT
https://dl.doubtnut.com/l/_mpEUd5u0i5aV


95. Integrate the following functions: 

Watch Video Solution

cos x − sinx

1 + sin(2x)

96. Integrate the following functions: 

Watch Video Solution

tan3 2x sec(2x)

97. Integrate the following functions: 

Watch Video Solution

tan4 x

98. Integrate the following functions: 

Watch Video Solution

sin3 x + cos3 x

sin2 x cos2 x

https://dl.doubtnut.com/l/_MFEY10bXhdz7
https://dl.doubtnut.com/l/_iCFvufUNr9cH
https://dl.doubtnut.com/l/_vuMSjGTDYGMV
https://dl.doubtnut.com/l/_iT7jEp703jwn
https://dl.doubtnut.com/l/_dRD5sWfs51w2


99. Integrate the following functions: 

Watch Video Solution

cos 2x + 2 sin2 x

cos2 x

100. Integrate the following functions: 

Watch Video Solution

1

sinx cos3 x

101. Integrate the following functions: 

Watch Video Solution

cos(2x)

(cos x + sinx)
2

102. Integrate the following functions: 

Watch Video Solution

sin− 1(cos x)

https://dl.doubtnut.com/l/_dRD5sWfs51w2
https://dl.doubtnut.com/l/_XQkiAEBjdPrA
https://dl.doubtnut.com/l/_lDb5WRXWF1Pc
https://dl.doubtnut.com/l/_8sqtMWxS5fhZ


103. Integrate the following functions: 1/(cos(x-a) cos(x-b)

Watch Video Solution

104. Choose the correct answer 
a)tanx+cotx+c

b)tanx+cosecx+c c)cotx-tanx+c d) tanx+secx+c

A. tanx+cotx+c

B. tanx+cosecx+c

C. -tanx+cotx+c

D. tanx+secx+c

Answer: A

Watch Video Solution

∫ dx
sin2 x − cos2 x

sin2 x cos2 x

https://dl.doubtnut.com/l/_Wgo7c1PaX28o
https://dl.doubtnut.com/l/_6AziKIFLDaRA


105. Find 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫ dx
ex(1 + x)

cos2(exx)

−cot(exx) + c

tan(xex) + c

tan(ex) + c

cot(ex) + c

106. Integrate the following 

Watch Video Solution

∫
dx

1 + x2

4

https://dl.doubtnut.com/l/_4nQv1f96QiCG
https://dl.doubtnut.com/l/_8Bc8tAYlcn63


107. Evaluate the following integrals 

Watch Video Solution

∫ dx
1

9x2 − 1

108. Evaluate the following integrals 

Watch Video Solution

∫ dx
1

√1 + 4x2

109. Integrate the following functions 

Watch Video Solution

3x2

x6 + 1

110. Integrate the following functions 

Watch Video Solution

1

√1 + 4x2

https://dl.doubtnut.com/l/_LPdAioZecaHU
https://dl.doubtnut.com/l/_ujMUGCHdCZYH
https://dl.doubtnut.com/l/_zzdu5QqgfYDZ
https://dl.doubtnut.com/l/_zlegM6xik35a
https://dl.doubtnut.com/l/_afdkZFHhCdUM


111. Integrate the following functions 

Watch Video Solution

1

√(2 − x)2 + 1

112. Integrate the following functions 

Watch Video Solution

1

√9 − 25x2

113. Integrate the following functions 

Watch Video Solution

3x

1 + 2x4

114. Integrate the following functions 

Watch Video Solution

x2

1 − x6

https://dl.doubtnut.com/l/_afdkZFHhCdUM
https://dl.doubtnut.com/l/_fJUNHoxIBSyu
https://dl.doubtnut.com/l/_k2qIlLPoPmTW
https://dl.doubtnut.com/l/_Smau5GncK9O2
https://dl.doubtnut.com/l/_yCzUcsdMRAsn


115. Integrate the following functions 

Watch Video Solution

x − 1

√x2 − 1

116. Integrate the following functions 

Watch Video Solution

x2

√x6 + a6

117. Integrate the following functions 

Watch Video Solution

sec2 x

√tan2 x + 4

118. Integrate the following functions 

Watch Video Solution

1

√x2 + 2x + 2

https://dl.doubtnut.com/l/_yCzUcsdMRAsn
https://dl.doubtnut.com/l/_qCMEoRJ5MdKS
https://dl.doubtnut.com/l/_k5QjfnzmTtY9
https://dl.doubtnut.com/l/_pWlA4Oic8a4W


119. Integrate the following functions 

Watch Video Solution

1

9x2 + 6x + 5

120. Integrate the following functions 

Watch Video Solution

1

√7 − 6x − x2

121. Integrate the following functions 

Watch Video Solution

1

√(x − 1)(x − 2)

122. Integrate the following functions 

Watch Video Solution

1

√8 + 3x − x2

https://dl.doubtnut.com/l/_37VQ8GW8wPFl
https://dl.doubtnut.com/l/_TzFoVKtYkGpY
https://dl.doubtnut.com/l/_ZaXmenR93gSV
https://dl.doubtnut.com/l/_ZjOj5UCbng20
https://dl.doubtnut.com/l/_oXez17SHChwQ


123. Integrate the following functions 

Watch Video Solution

1

√(x − a)(x − b)

124. Integrate the following functions 

Watch Video Solution

4x + 1

√2x2 + x − 3

125. Integrate the following functions 

Watch Video Solution

x + 2

√x2 − 1

126. Integrate the following functions 

Watch Video Solution

5x − 2

1 + 2x + 3x2

https://dl.doubtnut.com/l/_oXez17SHChwQ
https://dl.doubtnut.com/l/_dulEE0ZbTZqk
https://dl.doubtnut.com/l/_IAaA9YKCElii
https://dl.doubtnut.com/l/_C1vkHVcwHYOx


127. Integrate the following functions 

Watch Video Solution

6x + 7

√(x − 5)(x − 4)

128. Integrate the following functions 

Watch Video Solution

x + 2

√4x − x2

129. Integrate the following functions 

Watch Video Solution

x + 2

√x2 + 2x + 3

130. Integrate the following functions 

Watch Video Solution

x + 3

x2 − 2x − 5

https://dl.doubtnut.com/l/_giev2BGtMAZW
https://dl.doubtnut.com/l/_KDJoI0q74VWZ
https://dl.doubtnut.com/l/_K5ZeLeBD3hfE
https://dl.doubtnut.com/l/_CkLhFFM38qQs
https://dl.doubtnut.com/l/_2D42ikAQkXzz


131. Integrate the following functions 

Watch Video Solution

5x + 3

√x2 + 4x + 10

132. Choose the correct answer 

A. 

B. 

C. (x+1) tan^-1+c`

D. 

Answer: B

Watch Video Solution

∫
dx

x2 + 2x + 2

x tan− 1(x + 1) + x

tan− 1(x + 1) + c

tan− 1 x + c

133. Choose the correct answer =∫
dx

√9x − 4x2

https://dl.doubtnut.com/l/_2D42ikAQkXzz
https://dl.doubtnut.com/l/_VTPCyPSdtA2F
https://dl.doubtnut.com/l/_PgPTI0m04LU6


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

sin− 1( ) + c
1

9

9x − 8

8

sin− 1( ) + c
1

2

8x − 9

9

sin− 1( ) + c
1

3

9x − 8

8

sin− 1( ) + c
1

2

9x − 8

9

134. Find 

Watch Video Solution

∫ dx
x2

(x2 + 1)(x2 + 4)

135. Find the following integrals 

Watch Video Solution

∫ dx
(3 sinx − 2)cos x

5 − cos2 x − 4 sinx

https://dl.doubtnut.com/l/_PgPTI0m04LU6
https://dl.doubtnut.com/l/_V7lZbmwGCnxy
https://dl.doubtnut.com/l/_zqH0AEUisoim


136. Find the following integrals. 

Watch Video Solution

∫ dx
x2 + x + 1

(x + 2)(x2 + 1)

137. Integrate the follwing functions: 

Watch Video Solution

x

(x + 1)(x + 2)

138. Integrate the follwing functions: 

Watch Video Solution

1

x2 − 9

139. Integrate the follwing functions: 

Watch Video Solution

3x − 1

(x − 1)(x − 2)(x − 3)

https://dl.doubtnut.com/l/_zqH0AEUisoim
https://dl.doubtnut.com/l/_bWcG0qROGL7u
https://dl.doubtnut.com/l/_gi18tAymlaRW
https://dl.doubtnut.com/l/_HHxHv4uzZBLh
https://dl.doubtnut.com/l/_exjffO7ioxSO


Watch Video Solution

140. Integrate the follwing functions: 

Watch Video Solution

x

(x − 1)(x − 2)(x − 3)

141. Integrate the follwing functions: 

Watch Video Solution

2x

x2 + 3x + 2

142. Integrate the follwing functions: 

Watch Video Solution

1 − x2

x(1 − 2x)

143. Integrate the follwing functions: 

Watch Video Solution

x

(x2 − 1)(x − 1)

https://dl.doubtnut.com/l/_exjffO7ioxSO
https://dl.doubtnut.com/l/_s5OQOLWivsP8
https://dl.doubtnut.com/l/_MbDZ14yrvU89
https://dl.doubtnut.com/l/_Gl4u4CilbwBk
https://dl.doubtnut.com/l/_1KQz2SLdvqtg


144. Integrate the follwing functions: 

Watch Video Solution

x

(x − 1)2(x + 2)

145. Integrate the follwing functions: 

Watch Video Solution

3x + 5

x3 − x2 − x + 1

146. Integrate the follwing functions: 

Watch Video Solution

2x − 3

(x2 − 1)(2x + 3)

147. Integrate the follwing functions: 

Watch Video Solution

5x

(x + 1)(x2 − 4)

https://dl.doubtnut.com/l/_1KQz2SLdvqtg
https://dl.doubtnut.com/l/_DVMEDYHfwihG
https://dl.doubtnut.com/l/_9UA1EZzbVHjj
https://dl.doubtnut.com/l/_rxsv55Km2vxO
https://dl.doubtnut.com/l/_35TpYnsqz3tU


148. Integrate the follwing functions: 

Watch Video Solution

x3 + x + 1

x2 − 1

149. Integrate the follwing functions: 

Watch Video Solution

2

(1 − x)(1 + x2)

150. Integrate the follwing functions: 

Watch Video Solution

3x − 1

(x + 2)2

151. Integrate the follwing functions: 

Watch Video Solution

1

x4 − 1

https://dl.doubtnut.com/l/_bvFBXa42DVHO
https://dl.doubtnut.com/l/_oJeOgxFBhtk0
https://dl.doubtnut.com/l/_ND4fJisQ0NI7
https://dl.doubtnut.com/l/_ZFTVOaKNbNvN
https://dl.doubtnut.com/l/_5bPaSzsfjvNn


152. Integrate the follwing functions: 

Watch Video Solution

1

x(xn + 1)

153. Integrate the follwing functions: 

Watch Video Solution

cos x

(1 − sinx)(2 − sinx)

154. Integrate the follwing functions: 

Watch Video Solution

(x2 + 1)(x2 + 2)

(x2 + 3)(x2 + 4)

155. Integrate the follwing functions: 

Watch Video Solution

2x

(x2 + 1)(x2 + 3)

https://dl.doubtnut.com/l/_5bPaSzsfjvNn
https://dl.doubtnut.com/l/_nGRLbhwYMNSv
https://dl.doubtnut.com/l/_daoK5JcHJu88
https://dl.doubtnut.com/l/_trUp3mwSVpZB


156. Integrate the follwing functions: 

Watch Video Solution

1

x(x4 − 1)

157. Integrate the follwing functions: 

Watch Video Solution

1

ex − 1

158. Find 

A. 

B. 

C. 

D. 

Answer: B

∫
xdx

(x − 1)(x − 2)

log
∣
∣∣
∣

∣
∣
∣
∣

+ c
(x − 1)2

x − 2

log
∣
∣∣
∣

∣
∣
∣
∣

+ c
(x − 2)

2

x − 1

log
∣
∣
∣
( )

2∣
∣
∣

+ c
x − 1

x − 2

log|(x − 1)(x − 2)| + c

https://dl.doubtnut.com/l/_5rtmEI3CCNwJ
https://dl.doubtnut.com/l/_aEXgnEA5JNr1
https://dl.doubtnut.com/l/_SsbjGlUtNFgI


Watch Video Solution

159. Choose the correct answer  =

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫
dx

x(x2 + 1)

log|x| − log(x2 + 1) + c
1

2

log|x| + log(x2 + 1) + c
1

2

−log|x| + log(x2 + 1) + c
1

2

log|x| + log(x2 + 1) + c
1

2

160. Given that . Using the

given result evaluate 

Watch Video Solution

∫ex[f(x) + f ′ (x)]dx = exf(x) + c

∫ex(sinx + cos x)dx

https://dl.doubtnut.com/l/_SsbjGlUtNFgI
https://dl.doubtnut.com/l/_HjMt7OTRuJAj
https://dl.doubtnut.com/l/_dKHmcnZTkpib


161. Given that . By writing 

 and applying

integration by parts in the first integral, evaluate

Watch Video Solution

∫ex[f(x) + f ′ (x)]dx = exf(x) + c

∫ex(sinx + cos x)dx = ∫ex sinxdx + ∫ex cos xdx

∫ex(sinx + cos x)dx

162. Find 

Watch Video Solution

∫ exdx
2 + sin 2x

1 + cos 2x

163. Find 

Watch Video Solution

∫ exdx
2 + sin 2x

1 + cos 2x

https://dl.doubtnut.com/l/_dKHmcnZTkpib
https://dl.doubtnut.com/l/_n1egPtQwk0tv
https://dl.doubtnut.com/l/_cEJxpwNgY01Z
https://dl.doubtnut.com/l/_ukBa4cNZ5P7e


164. Find 

Watch Video Solution

∫ex(tan− 1 x + )dx
1

1 + x2

165. Find 

Watch Video Solution

∫ dx
(x2 + 1)ex

(x + 1)
2

166. Integrate the following functions 

Watch Video Solution

x sinx

167. Integrate the following functions 

Watch Video Solution

x sin 3x

https://dl.doubtnut.com/l/_XcHgilmAgtiS
https://dl.doubtnut.com/l/_4vmeCc8zKLIA
https://dl.doubtnut.com/l/_qj2bVALKcj21
https://dl.doubtnut.com/l/_n05oJXOWNqOD
https://dl.doubtnut.com/l/_u5weEt5cuCr3


168. Integrate the following functions 

Watch Video Solution

x2ex

169. Integrate the following functions 

Watch Video Solution

x logx

170. Integrate the following functions 

Watch Video Solution

x log 2x

171. Integrate the following functions 

Watch Video Solution

x2 logx

https://dl.doubtnut.com/l/_u5weEt5cuCr3
https://dl.doubtnut.com/l/_d5fMz7uSBn5I
https://dl.doubtnut.com/l/_szL9KhOwuGFl
https://dl.doubtnut.com/l/_Oyw64nW4TNHB


172. Integrate the following functions 

Watch Video Solution

x sin− 1 x

173. Integrate the following functions 

Watch Video Solution

x tan− 1 x

174. Integrate the following functions 

Watch Video Solution

x cos − 1 x

175. Integrate the following functions 

Watch Video Solution

(sin− 1 x)
2

https://dl.doubtnut.com/l/_aS1qPeBgmBY4
https://dl.doubtnut.com/l/_O9xtxLS38AQj
https://dl.doubtnut.com/l/_s7kRd6NgTsFN
https://dl.doubtnut.com/l/_QIJNh04p22JP
https://dl.doubtnut.com/l/_N0tjW41aQ9Ck


176. Integrate the following functions 

Watch Video Solution

x cos − 1 x

√1 − x2

177. Integrate the following functions 

Watch Video Solution

x sec2 x

178. Integrate the following functions 

Watch Video Solution

tan− 1 x

179. Integrate the following functions 

Watch Video Solution

x(logx)2

https://dl.doubtnut.com/l/_N0tjW41aQ9Ck
https://dl.doubtnut.com/l/_EC5lpR5231gk
https://dl.doubtnut.com/l/_dq50rxa4wKtR
https://dl.doubtnut.com/l/_EhhtQXiAZW3H


180. Integrate the following functions 

Watch Video Solution

(x2 + 1)logx

181. Given that . By writing 

 and applying

integration by parts in the first integral, evaluate

Watch Video Solution

∫ex[f(x) + f ′ (x)]dx = exf(x) + c

∫ex(sinx + cos x)dx = ∫ex sinxdx + ∫ex cos xdx

∫ex(sinx + cos x)dx

182. Integrate the following functions 

Watch Video Solution

xex

(1 + x)2

183. Integrate the following functions ex( )
1 + sinx

1 + cos x

https://dl.doubtnut.com/l/_40ysLWpX4HS6
https://dl.doubtnut.com/l/_zhseC4fvzMH2
https://dl.doubtnut.com/l/_5G4y4EFOOeZs
https://dl.doubtnut.com/l/_S3I6dsSMUDEU


Watch Video Solution

184. Integrate the following functions 

Watch Video Solution

ex( − )
1

x

1

x2

185. Integrating the following functions 

Watch Video Solution

(x − 3)ex

(x − 1)3

186. Integrate the following functions 

Watch Video Solution

e2x sinx

187. Integrate the following functions sin− 1( )
2x

1 + x2

https://dl.doubtnut.com/l/_S3I6dsSMUDEU
https://dl.doubtnut.com/l/_QLAAhy4iH7Y6
https://dl.doubtnut.com/l/_R8eDmYQnv0U6
https://dl.doubtnut.com/l/_4lrOiHpByw2o
https://dl.doubtnut.com/l/_u15InnFMEF9O


Watch Video Solution

188. Choose the correct answer  =

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫x2ex
3
dx

ex
3

+ c
1

3

ex
2

+ c
1

3

ex
3

+ c
1
2

ex
2

+ c
1
2

189. 

A. 

B. 

∫ex secx(1 + tanx)dx = ......

ex cos x + c

ex secx + c

https://dl.doubtnut.com/l/_u15InnFMEF9O
https://dl.doubtnut.com/l/_6xuahZmZESlf
https://dl.doubtnut.com/l/_wn8r2vX48GG4


C. 

D. 

Answer: B

Watch Video Solution

ex sinx + c

ex tanx + c

190. Integrate the following functions 

Watch Video Solution

√4 − x2

191. Integrate the following functions 

Watch Video Solution

√1 − 4x2

192. Integrate the following functions 

W h Vid S l i

√x2 + 4x + 6

https://dl.doubtnut.com/l/_wn8r2vX48GG4
https://dl.doubtnut.com/l/_F1V1H5b2x6if
https://dl.doubtnut.com/l/_6b3H2UYDwYAn
https://dl.doubtnut.com/l/_OIk8LFDmqDGy


Watch Video Solution

193. Integrate the following functions 

Watch Video Solution

√x2 + 4x + 1

194. Integrate the following functions 

Watch Video Solution

√1 − 4x − x2

195. Integrate the following functions 

Watch Video Solution

√x2 + 4x − 5

196. Integrate the following functions 

Watch Video Solution

√1 + 3x − x2

https://dl.doubtnut.com/l/_OIk8LFDmqDGy
https://dl.doubtnut.com/l/_QbgDamTmJLEa
https://dl.doubtnut.com/l/_ViDhU2gMErFh
https://dl.doubtnut.com/l/_xnkURBrxcEjy
https://dl.doubtnut.com/l/_MNLF6slAJxBj


197. Integrate the following functions 

Watch Video Solution

√x2 + 3x

198. Integrate the following functions 

Watch Video Solution

√1 +
x2

9

199.  = is equal to

A. 

B. 

C. 

D. 

∫√1 + x2dx

√1 + x2 + log∣
∣x + √1 + x2∣

∣ + c
x

2

1

2

(1 + x2) + c
2

3

3
2

x(1 + x2) + c
2

3

3
2

√1 + x2 + x2 log∣
∣x + √1 + x2∣

∣ + c
x2

2

1

2

https://dl.doubtnut.com/l/_MNLF6slAJxBj
https://dl.doubtnut.com/l/_tUWg691kYE5M
https://dl.doubtnut.com/l/_posf5LiccJDX
https://dl.doubtnut.com/l/_DCcAfCfeG5xJ


Answer: A

Watch Video Solution

200. Integrate 

A. 

B. 

C. 

D. 

Answer: D

∫√x2 − 8x + 7dx

(x − 4)√x2 − 8x + 7 + 9 log∣
∣x − 4 + √x2 − 8x + 7∣

∣ + c
1

2

(x + 4)√x2 − 8x + 7 + 9 log∣
∣x − 4 + √x2 − 8x + 7∣

∣ + c
1

2

(x − 4)√x2 − 8x + 7 − 3√2 log∣
∣x − 4 + √x2 − 8x + 7∣

∣ + c
1

2

(x − 4)√x2 − 8x + 7 − log∣
∣x − 4 + √x2 − 8x + 7∣

∣ + c
1

2

9

2

https://dl.doubtnut.com/l/_DCcAfCfeG5xJ
https://dl.doubtnut.com/l/_8TRnsxvlStCD


Watch Video Solution

201. Integrate the following function 

Watch Video Solution

x√x + x2

202. Find 

Watch Video Solution

∫(x + 1)√2x2 + 3dx

203. Find 

Watch Video Solution

∫(x + 3)√3 − 4x − x2dx

204. Find 

Watch Video Solution

∫x√1 + x − x2dx

https://dl.doubtnut.com/l/_8TRnsxvlStCD
https://dl.doubtnut.com/l/_b6aS9r6gz8yP
https://dl.doubtnut.com/l/_jl3vCgRUaNtQ
https://dl.doubtnut.com/l/_DBYgnGZ8pxED
https://dl.doubtnut.com/l/_xUyb5l2z38sg


205. Evaluate  


as the limit of a sum

Watch Video Solution

∫
2

0

(x2 + 1)dx

206. Evaluate  as limit of a sum.

Watch Video Solution

∫
2

0

exdx

207. Evaluate the following definite integrals as limits of sums.

Watch Video Solution

∫
b

a

xdx

https://dl.doubtnut.com/l/_xUyb5l2z38sg
https://dl.doubtnut.com/l/_b9wdUJR3Juq3
https://dl.doubtnut.com/l/_U5gZrbvlkwcC
https://dl.doubtnut.com/l/_weZzsn50C1Mi


208. Find  as limit of a sum.

Watch Video Solution

∫
5

0
(x + 1)dx

209. Evaluate the following definite integrals as limits of sums.

Watch Video Solution

∫
3

2

x2dx

210. Evaluate the following definite integrals as limits of sums.

Watch Video Solution

∫
4

1
(x2 − x)dx

https://dl.doubtnut.com/l/_DBpNnaVLcJar
https://dl.doubtnut.com/l/_11uLicNCncGV
https://dl.doubtnut.com/l/_LgiBQrhiaEb1


211. Evaluate the following definite integrals as limits of sums.

Watch Video Solution

∫
1

− 1
exdx

212. Evaluate the following definite integrals as limits of sums.

Watch Video Solution

∫
4

0

(x + e2x)dx

213. Evaluate the following integrals: 

Watch Video Solution

∫
3

2
x2dx

214. Evaluate the following integrals: ∫
9

4
dx

√x

(30 − x )
23

2

https://dl.doubtnut.com/l/_97c7W0mCSNHy
https://dl.doubtnut.com/l/_1BlaHtvFro7P
https://dl.doubtnut.com/l/_McDvDH4Ytrvc
https://dl.doubtnut.com/l/_DjnXGplaMS6n


Watch Video Solution

215. Evaluate the following integrals: 

Watch Video Solution

∫
2

1

xdx

(x + 1)(x + 2)

216. Evaluate the following integrals: 

Watch Video Solution

∫
0

sin3 2t cos 2tdt

π

4

217. Evaluate the following integrals: 

Watch Video Solution

∫
1

− 1

(x + 1)dx

218. Evaluate the following integrals: ∫
3

2
dx

1

x

https://dl.doubtnut.com/l/_DjnXGplaMS6n
https://dl.doubtnut.com/l/_38JqgHHPEIRt
https://dl.doubtnut.com/l/_hZP3fVsvg10k
https://dl.doubtnut.com/l/_3PmntZCYZUIe
https://dl.doubtnut.com/l/_WAfWupEEaLbq


Watch Video Solution

219. Evaluate the following integrals: 

Watch Video Solution

∫
2

1

(4x3 − 5x2 + 6x + 9)dx

220. Evaluate the following integrals: 

Watch Video Solution

∫
0

sin 2xdx

π

4

221. Evaluate 

Watch Video Solution

∫
0

cos 2xdx

π

2

222. Evaluate the following integrals: 

h id l i

∫
5

4

exdx

https://dl.doubtnut.com/l/_WAfWupEEaLbq
https://dl.doubtnut.com/l/_CQLQBAcYSvBA
https://dl.doubtnut.com/l/_4KuuKaDyxlOz
https://dl.doubtnut.com/l/_xhc5jVUgTmMI
https://dl.doubtnut.com/l/_37rWvjS1tlsc


Watch Video Solution

223. Evaluate the following integrals: 

Watch Video Solution

∫
0

tanxdx

π

4

224. Evaluate the following integrals: 

Watch Video Solution

∫ cos ecxdx

π

4

π

6

225. Evaluate the following integrals: 

Watch Video Solution

∫
1

0

dx

√1 − x2

226. Evaluate the following integrals: 

W h Vid S l i

∫
1

0

dx

1 + x2

https://dl.doubtnut.com/l/_37rWvjS1tlsc
https://dl.doubtnut.com/l/_1vklOVHp0JcK
https://dl.doubtnut.com/l/_k4Z1M6d87E4G
https://dl.doubtnut.com/l/_mzAXcuA2AR8j
https://dl.doubtnut.com/l/_ZcjNxUb4wgEA


Watch Video Solution

227. Evaluate the following integrals: 

Watch Video Solution

∫
3

2

( )dx
1

x2 − 1

228. Evaluate the following integrals: 

Watch Video Solution

∫
0

cos2 xdx

π

2

229. Evaluate the following integrals: 

Watch Video Solution

∫
3

2
x

dx

x2 + 1

230. Evaluate the following integrals: 

Watch Video Solution

∫
2x + 3

5x2 + 1

https://dl.doubtnut.com/l/_ZcjNxUb4wgEA
https://dl.doubtnut.com/l/_TIhCAz2IRnuW
https://dl.doubtnut.com/l/_ivlYITq4ddZN
https://dl.doubtnut.com/l/_svXDK8ZB3Uvx
https://dl.doubtnut.com/l/_kjeUsyLd5WTe


231. Find the following integrals. 

Watch Video Solution

∫
1

0
xex

2

dx

232. Evaluate the following integrals: 

Watch Video Solution

∫
2

1

dx
5x2

x2 + 4x + 3

233. Evaluate the following integrals: 

Watch Video Solution

∫
0

(2 sec2 x + x3 + 2)dx

π

4

234. Evaluate the following integrals: ∫
π

0
sin2( ) − cos2( )dx

x

2
x

2

https://dl.doubtnut.com/l/_kjeUsyLd5WTe
https://dl.doubtnut.com/l/_4Jk2F47yATfH
https://dl.doubtnut.com/l/_6j7qeW7L4Fvz
https://dl.doubtnut.com/l/_nd6aNQFGdltE
https://dl.doubtnut.com/l/_doALUZp8zjhI


Watch Video Solution

235. Evaluate the following integrals: 

Watch Video Solution

∫
2

0
dx

6x + 3

x2 + 4

236. Evaluate the following integrals: 

Watch Video Solution

∫
1

0

(xex + sin( ))dx
πx

4

237. Choose the correct answer. 

A. 

B. 

C. 

D. 

∫
√3

0

dx

1 + x2

π

3

2π

3

π

6

π

12

https://dl.doubtnut.com/l/_doALUZp8zjhI
https://dl.doubtnut.com/l/_Hv1g3I6kniRU
https://dl.doubtnut.com/l/_yAoIEHtYivJ4
https://dl.doubtnut.com/l/_wfwLOrFO1Xlc


Answer: D

Watch Video Solution

238. Choose the correct answer. 


a)  b)  c)  d)

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

∫
0

2
3 dx

4 + 9x2

π

6

π

12

π

24

π

4

P
I

6

π

12

π

24

π

4

https://dl.doubtnut.com/l/_wfwLOrFO1Xlc
https://dl.doubtnut.com/l/_DbbxkJswQLR7


239. Evaluate the following definite integrals 

Watch Video Solution

∫
1

0
dx

x

x2 + 1

240. Evaluate the following definite integrals 

Watch Video Solution

∫
0

√sinϕ cos5 ϕdϕ

π

2

241. Evaluate the following definite integrals

Watch Video Solution

∫
1

0
sin− 1( )dx

2x

1 + x2

242. Find the following integrals. 

∫
2

0
x√x + 2dx

https://dl.doubtnut.com/l/_ipcLn91aAzH4
https://dl.doubtnut.com/l/_ZEzKk2guL9lr
https://dl.doubtnut.com/l/_G6XS3hOpoLG1
https://dl.doubtnut.com/l/_YqTh2Mp1xrN9


Watch Video Solution

243. Find the following integrals. 

Watch Video Solution

∫
0

dx

π

2 sinx

1 + cos2 x

244. Evaluate the following definite integrals 

Watch Video Solution

∫
2

0

dx

x + 4 − x2

245. Evaluate the following definite integrals 

Watch Video Solution

∫
1

− 1

dx

x2 + 2x + 5

https://dl.doubtnut.com/l/_YqTh2Mp1xrN9
https://dl.doubtnut.com/l/_9S2FjoN6TbRl
https://dl.doubtnut.com/l/_pCkvJEMxqQDh
https://dl.doubtnut.com/l/_mMTG4FATl6FT


246. Evaluate the following definite integrals

Watch Video Solution

∫
2

1
( − )e2xdx

1

x

1

2x2

247. Choose the correct answer.  =

A. 6

B. 0

C. 3

D. 4

Answer: A

Watch Video Solution

∫
1

dx
1
3

(x − x3)
1
3

x4

https://dl.doubtnut.com/l/_mpu0O1woF7qJ
https://dl.doubtnut.com/l/_KKz0lfQvNTic
https://dl.doubtnut.com/l/_HHi4rxohFzKO


248. If f(x) = , then find


A. cosx+xsinx

B. x sinx

C. x cosx

D. sinx + x cosx

Answer: B

Watch Video Solution

∫
x

0
t sin tdt

f ′ (x)

249. 

Watch Video Solution

∫
0

dx

π

2 sinx

sinx + cos x

https://dl.doubtnut.com/l/_HHi4rxohFzKO
https://dl.doubtnut.com/l/_XD40ih4QzQen


250. Find the value of 

Watch Video Solution

∫
0

dx

π

2 sin4 x

sin4 x + cos4 x

251. Evaluate 

Watch Video Solution

∫
1

− 1

log( )dx
3 − x

3 + x

252. Evaluate 

Watch Video Solution

∫
2

− 1

∣∣x
3 − x∣∣dx

253. Evaluate 

Watch Video Solution

∫
−

sin2 xdx

π

4

π

4

https://dl.doubtnut.com/l/_pxPJZ6wv98EL
https://dl.doubtnut.com/l/_RX0cuH3aodT0
https://dl.doubtnut.com/l/_nmZzq9ZMN9Wp
https://dl.doubtnut.com/l/_UQ8FypwvG4dR


254. Evaluate 

Watch Video Solution

∫
π

0
dx

x sinx

1 + cos2 x

255. Using properties evaluate the following definite integrals

Watch Video Solution

∫
0

cos2 xdx

π

2

256. Find the following integrals. 

Watch Video Solution

∫
0

dx

π

2 √sinx

√sinx + √cos x

https://dl.doubtnut.com/l/_UQ8FypwvG4dR
https://dl.doubtnut.com/l/_Qib2hK90TFLF
https://dl.doubtnut.com/l/_HB5MdXlZNi7s
https://dl.doubtnut.com/l/_pILB8LejeP3T


257. Using properties evaluate the following definite integrals

Watch Video Solution

∫
0

dx

π

2 sin x
3
2

sin x + cos x
3
2

3
2

258. Using properties evaluate the following definite integrals

Watch Video Solution

∫
0

dx

π

2 cos5 x

sin5 x + cos5 x

259. Evaluate the following 

Watch Video Solution

∫
5

− 5

|x + 2|dx

https://dl.doubtnut.com/l/_dGYnoYjAvBsD
https://dl.doubtnut.com/l/_IB4uffsqGqzf
https://dl.doubtnut.com/l/_J31CfUUZApZw


260. Using properties evaluate the following definite integrals, 

evaluate the following: 

Watch Video Solution

∫
8

2
|x − 5|dx

261. Using properties evaluate the following definite integrals,

evaluate the following: 

Watch Video Solution

∫
1

0

x(1 − x)ndx

262. Evaluate. 

Watch Video Solution

∫
0

log(1 + tanx)dx

π

4

https://dl.doubtnut.com/l/_wC8Tx3CiOUSv
https://dl.doubtnut.com/l/_2Rs6tmJwSWbe
https://dl.doubtnut.com/l/_lDAsS3lvi0TY


263. Find the following integrals. 

Watch Video Solution

∫
2

0
x√2 − xdx

264. Using properties evaluate the following definite integrals, 

evaluate the following: 

Watch Video Solution

∫
0

(2 log sinx − log sin 2x)dx

π

2

265. Using properties evaluate the following definite integrals, 

evaluate the following: 

Watch Video Solution

∫
−

sin2 xdx

π

2

π

2

https://dl.doubtnut.com/l/_bNnr4Pj87zKn
https://dl.doubtnut.com/l/_YjGYqZHCLRjr
https://dl.doubtnut.com/l/_tnIWWCow9x3L


266. Evaluate:

Watch Video Solution

∫
π

0

dx
x

1 + sinx

267. Evaluate the following: 

Watch Video Solution

∫
−

sin7 xdx

π

2

π

2

268. Using properties evaluate the following definite integrals, 

evaluate the following: 

Watch Video Solution

∫
2π

0
cos5 xdx

https://dl.doubtnut.com/l/_IEtB7fVdCYHZ
https://dl.doubtnut.com/l/_sX9EOwoZzCYU
https://dl.doubtnut.com/l/_AXoBHmqPoB8d


269. Using properties evaluate the following definite integrals, 

evaluate the following: 

Watch Video Solution

∫
0

dx

π

2 sinx − cos x

1 + sinx cos x

270. Evaluate

Watch Video Solution

∫
π

0
log(1 + cos x)dx

271. Using properties evaluate the following definite integrals, 

evaluate the following: 

Watch Video Solution

∫
a

0
dx

√x

√x + √a − x

https://dl.doubtnut.com/l/_LSXVF2Lw4LLI
https://dl.doubtnut.com/l/_hyqtLYuGBN2o
https://dl.doubtnut.com/l/_Q8xPoy5tBEWT


272. Using properties evaluate the following definite integrals, 

evaluate the following: 

Watch Video Solution

∫
4

0
|x − 1|dx

273. Show that , if  and  are

defined as  and 

Watch Video Solution

∫
a

0

f(x)g(x)dx = 2∫
a

0

f(x)dx f g

f(x) = f(a − x) g(x) + g(a − x) = 4

274. Choose the correct answer

 =

A. 0

B. 2

C. 

∫
−

(x3 + x cos x + tan5 x + 1)dx

π

2

π

2

π

https://dl.doubtnut.com/l/_WomP7elcFZgT
https://dl.doubtnut.com/l/_ZFDu61Fhx0BW
https://dl.doubtnut.com/l/_RgYd83IS7BMJ


D. 1

Answer: C

Watch Video Solution

275. Choose the correct answer 

A. 2

B. 44289

C. 0

D. -2

Answer: C

Watch Video Solution

∫
0

log( )dx

π

2 4 + 3 sinx

4 + 3 cos x

https://dl.doubtnut.com/l/_RgYd83IS7BMJ
https://dl.doubtnut.com/l/_fWwC0b9LKIlO


276. Evaluate 

Watch Video Solution

∫
1

− 1
sin5 x cos4 xdx

277. Evaluate 

Watch Video Solution

∫

π

3

π

6

dx

1 + √tanx

278. Find 

Watch Video Solution

∫
0

log sinxdx

π

2

279. Integrate the following functions w.r.t.x 

Watch Video Solution

e5 logx − e4 logx

e3 logx − e2 logx

https://dl.doubtnut.com/l/_AE15aijugam2
https://dl.doubtnut.com/l/_1j3BzZBdKyJ1
https://dl.doubtnut.com/l/_2M9oS45Iaajr
https://dl.doubtnut.com/l/_B2gxAqgtkcv8
https://dl.doubtnut.com/l/_7SmFeJ4vFw6H


280. Integrate the following functions w.r.t.x 

Watch Video Solution

cos x

√4 − sin2
x

281. Integrate the following functions 

Watch Video Solution

x3

√1 − x8

282. integrate the following functions 

Watch Video Solution

ex

(1 + ex)(2 + ex)

283. Integrate the following: 

Watch Video Solution

tan− 1 √
1 − x

1 + x

https://dl.doubtnut.com/l/_7SmFeJ4vFw6H
https://dl.doubtnut.com/l/_tFE5pNG6AUJW
https://dl.doubtnut.com/l/_wknv5ZqOWd0b
https://dl.doubtnut.com/l/_gdiH4KgSOcp6
https://dl.doubtnut.com/l/_7Lq2KiM7vOhy


284. Evaluate the following definite integrals: 

Watch Video Solution

∫
π

0

dx
x tanx

secx + tanx

285. Prove the following: = 

Watch Video Solution

∫
3

1

dx

x2(x + 1)
+ log( )

2

3

2

3

286. Prove the following: 

Watch Video Solution

∫
1

0

xexdx = 1

287. Prove the following  = 0

Watch Video Solution

∫
1

− 1
x17 cos4 xdx

https://dl.doubtnut.com/l/_7Lq2KiM7vOhy
https://dl.doubtnut.com/l/_ISxlIQElNJbt
https://dl.doubtnut.com/l/_cgLLQZrRtVGz
https://dl.doubtnut.com/l/_Vy07KZZ3e6Qy
https://dl.doubtnut.com/l/_qjwRAEStEXR2


288. Evaluate  as the limit of a sum.

Watch Video Solution

∫
1

0

e2 − 3xdx

289. Choose the correct answer.  =

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫
dx

ex + e−x

tan− 1(ex) + c

tan− 1(e−x) + c

log(ex − e−x) + c

log(ex + e−x) + c

290. If f(a+b-x) = f(x), then  =∫
b

a

xf(x)dx

https://dl.doubtnut.com/l/_qjwRAEStEXR2
https://dl.doubtnut.com/l/_ZfMqFrB2Iyp9
https://dl.doubtnut.com/l/_PInQ4JnKVDBl


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫
b

a

f(b − x)dx
a + b

2

∫
b

a

f(b + x)dx
a + b

2

∫
b

a

f(x)dx
b − a

2

∫
b

a

f(x)dx
a + b

2

291. Choose the correct answer  =

A. 1

B. 0

C. -1

D. 

∫
1

0
tan− 1( )dx

2x − 1

1 + x − x2

π

4

https://dl.doubtnut.com/l/_PInQ4JnKVDBl
https://dl.doubtnut.com/l/_DVwTFP6pumRG


Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_DVwTFP6pumRG

